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NOTE: The answer Key is indicated in BOLD

In India which one of the following is the real guiding factor for the state to meet social needs
and for the establishment of new social order?

Fundamental rights

Preamble

Directive Principles of State Policy

Distribution of powers
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Assertion (A): Ex-post facto laws are laws which voided and punished an act that had been
lawful when done.

Reason (R): Imposing a penalty with retrospective effect for violation of a taxing statute does
not infringe Art. 20 (1)

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A

C. Aistrue butRis false

D. Ais false but R is True

The following are enshrined in the Preamble of the Constitution of India:
1. Equality of status and opportunity

2. Liberty of thought, expression, belief, faith and worship
3. Justice-social, economic and political

4. Fraternity assuring the dignity of the individual

5. Unity and integrity of the nation

Which of the following is the correct code order in which they appear in the Preamble?
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In which of the following cases did the Supreme Court declare that calling for and holding
bandhs is illegal and unconstitutional being violative of the fundamental rights of the citizens.

A. Communist Party of India v. Bharath Kumar and Ors.

B. Bhim Singh v. State of J& K

C. Ramakonda Reddy v. State of A.P.

D. L. Chandra Kumar v. Union of India



5 Assertion (A): Article 12 defines ‘the State’ for the purpose of Part III of the Constitution.
Reason (R): For the purpose of Part VI ‘State’ does not include J&K

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not a correct explanation of A
C. Aistrue butRis false

D. Ais false but Ris True

6  Match List-I with List-II and select the correct answer using the code given below

List -1 List-11
a) Article 1. CAG
366
b) Article 2. Residuary Power
148
c) Article 3. National Commission for Scheduled Caste
248
d) Article 4. Definitions
338
Code:
a b c d
A2 1 4 3
B.3 2 1 4
C 4 1 2 3
D.3 4 2 1

7  Recruitment and conditions of service of persons serving the Union or a State is provided by
which Article of the Indian Constitution:
A. Article 308
B. Article 309
C. Article 310
D. Article 311

8  Match List-I with List-II and select the correct answer using the code given below

List -1 List-II
a.Maneka Gandhi v. Union of India 1. Freedom of Speech and expression
b. Ramesh Thappar v. State of Madras 2. Basic Features of the Constitution
c. Keshavananda Bharathi v. State of Kerala 3. Freedom of Movement
d.Golaknath v. State of Punjab 4. Double Jeopardy
5. Amendment of Fundamental Rights

Code:
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The Constitutionality of Anti-Defection Law has been upheld by Supreme Court in which of the
following case:

A. Kihoto Hollohan v. Zachillhu

B. Kehar Singh v. Union of India

C. Paramananda Katara v. Union of India

D. Indira Gandhi v. Raj Narian

The President of India has no power of Pardoning in cases where

A. The punishment is by Court Martial

B. The punishment is for an offence against any law relating to which the executive
power is with the States

C. The punishment is a sentence of death

D. The punishment is for an offence against any law relating to which the executive power is
with the Union

Protection of Environment is
A. aDirective Principle
B. an implied Fundamental Right
C. a Fundamental Duty
D. All the above

Select the correct code for which categories of persons special provisions are made under
Article 15 of the Constitution of India?
1. Women and children
2. Scheduled Tribes
3. Economically backward classes
4. Socially and educationally backward classes
Code:
A. 1,2 and 4
B. 2,3 and 4
C. 1,2and 3
D. 1,3and 4

Through which provisions, does the Constitution of India explicitly prohibit racial discrimination
in India?

A. Articles 14 and 17

B. Articles 17 and 19

C. Articles15and 16

D. Articles 17 and 18

Select the correct code:
The High Court has jurisdiction to:



1. Punish for its contempt

2. Tender advice on a legal question referred to it by the Governor of the State

3. Issue certain Writs for enforcement of fundamental rights or for other purposes
Code:

1and?2
1and 3
2and 3
1,2 and 3
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15 Which of the following jurists is NOT associated with Analytical School

A. Austin

B. H.L.A. Hart
C. Bentham
D. Savigny

16 Which of the following pair is NOT correctly matched

A. Duguit - Social Solidarity

B. Ehrlich - Living law of the people
C. Bentham - Pleasure and Pain

D. Immanuel Kant - Liberalism

17 Match List-I with List-1I and select the correct answer using the code given below

List -1 List-11
a) Jurisprudence is Lawyers extraversion 1. H.L.A.Hart
b) Volksgeist is the source of law 2. Kelson
c) Law is a Union of Primary and Secondary rules 3. Julius Stone
d) Legal system is a pyramidal structure of norms 4. Savigny
Code:
a b ¢ d
A.2 1 4 3
B.3 2 1 4
C 3 4 1 2
D.1 3 2 4

18 Who has defined Jurisprudence as “The formal science of positive law”?
A. Holland
B. Ulpian
C. Bentham
D. Blackstone

19 Match List-I1 with List-1I and select the correct answer using the code given below

List -1 List-I1

a. American Realists 1. Law as a command of the sovereign

b. Hart’s theory of law 2. Law as a dictate of reason
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c. Imperative law 3. Law as a union of primary and secondary rules

d. Natural law 4. Rules related to judicial behaviour
Code:
a b c d
A1 4 2 3
B.3 4 1 2
C 4 3 1 2
D.3 1 2 4

“Province of Jurisprudence Determined” is a contribution to jurisprudence by
A. Bentham
B. Austin
C. Kelsen
D. Hart

Identify the case in which jus necessitatis was pleaded as a defense.
A. Rv. Prince
B. Rv. Tolson
C. Rv.Morgan
D. Rv.Dudley & Stephens

Select the correct code related to ‘theories of negligence’
1. Subjective theory
2. Deterrent theory
3. Fiction theory
4. Objective theory
Code:
A. 1and 2
B. 1and 4
C. 3and 4
D. 2and 3

Assertion (A): Legislation is a like a gold coin.
Reason (R): Legislation systematically organizes provisions of law on a particular subject.

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A

C. Aistrue butRis false

D. Ais false but R is True

Assertion (A): Austin speaks of the science of law.
Reason (R): Science of law and philosophy of positive law are synonymous to him.

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A



C. Aistrue butRis false
D. Ais false but Ris True

25 Assertion (A): For legal duty, sanction is an essential element attached for its breach
Reason (R): Presence of sanction is the test of legal duty:

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A

C. Aistrue butRis false

D. Ais false butRis True

26 The statement “Precedents are the past decisions which are used as guide in the moulding of
future decisions”, is attributed to:
A. Dias
B. Gray
C. Keeton
D. None of the above

27 Which one of the following pairs is NOT correctly matched?

A. Rightin rem - Property right
B. Rightinrealiena - Easement right
C. Rightin personam - Contract

D. Rightin re propria - Lien

28 Match List-I with List-II and select the correct answer using the code given bellow
List -1 List-1I

a. Recognition only and exclusively bestows a state 1. De-facto recognition

with rights and duties under International law
b. Itis a first step towards final recognition 2. De-Jure recognition
Itis a final recognition by a state 3. Declarative theory
International personality of a state does not 4. Constitutive theory
depend upon recognition.
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29 Assertion (A): Supporters of realistic theories argue that the real importance of International
Law lies in the validity of its claim to be law.
Reason(R): To justify existence of International Law, influence of International politics is
essential.

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A
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C. Aistrue butRis false
D. Ais false but Ris True

Match List-I with List-II and select the correct answer using the code given below

List -1 List-11

a. Corfu Channel case 1. Flag State jurisdiction
b. Lotus case 2. Occupation of territory
c. Western Sahara case 3. Right to innocent passage
d. Gulf of Maine case 4. Delimitation of maritime boundary
Code:
a b c d
A.2 1 4 3
B.3 1 2 4
C1 2 4 3
D.1 3 2 4

Which one of the following principles refers to the binding force of an international treaty?
A. Non liquet

Persona non grata

Opinio d’juris sive necessitaties

. Pacta Sunt Servanda
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Which one of the following rights through territorial waters do the Ships and Vessels of every
State enjoy?

A. Free navigation

B. Innocent passage

C. Restricted Navigation

D. Non-Commercial Navigation

Estrada doctrine relates to
A. Necessity of recognition
B. Form of recognition
C. No necessity of recognition
D. Recognition is superficial

Which of the Article of the Statute of International Court of Justice makes it clear that the
decision of the Court will have no binding force except between the parties and in respect of that
particular case only?

A. Article 38(1)

B. Article 59

C. Article 60

D. Article 68



35 Which of the following rights DO NOT find place in the ICESCR?
1. Rightto work
2. Right to adequate food
3. Right to self-determination
4. Right to privacy
Code:

A. 1and?2
B. 2and 3
C. 3and 4
D. 1and 4

36 Which of the following DO NOT find place in the ICCPR?
1. Right to leave any country including his own and to return to his country.
2. Protection against torture and other forms of cruel and inhuman or degrading treatment or
punishment
3. Right to move to IC]
4. Right to be a member of UN
Select the correct answer:
A. 1and3
B. 3and 4
C. 1and 4
D. 2 and 4
37 Assertion(A): The effect of conditional recognition is that failure to fulfil the condition or
obligation will annul the recognition.
Reason(R): Recognition may be conditional as sometimes States are recognised subject to a
condition generally and obligation which they undertake to fulfil.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not a correct explanation of A
C. Aistrue butRis false

D. Ais false but R is True

38 Select the Correct Code:
The Economic and Social Council of the UN:
1. Prepare draft Conventions for submission to the General Assembly on subjects falling within
its competence.
2. Call international conferences on matters falling within its competence.
Appoint the members of Human Rights Committee.
4. Make recommendations for promoting respect for and observance of human rights and

w

fundamental freedom.
Code:
1and?2
1,2 and 3
3 and 4
1,2 and 4
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39 Article 94 of the United Nations Charter provides that -

A.
B.

The International Court of Justice is empowered to implement its decisions.

If any party to a case fails to perform its obligations under the judgment, the Security
Council is empowered to implement the judgment of the Court provided the matter is
referred to it by ICJ.

If any party to a case fails to perform its obligations under the judgment, the other
party may have recourse to the Security Council, which may decide upon measures
to be taken to give effect to the judgment.

. If any party to a case fails to perform its obligations under the judgment of the IC], the

Security Council may decide upon measures to be taken to give effect to the judgment, on
the recommendation of the General Assembly

40 Which one of the following statements is NOT correct?

A.
B.

41 Match

‘Jus cogens’ is the fundamental principle of International law.

Customary rules of International Law are diminishing and are being replaced by law
making treaties and conventions

States do not deny the existence of International Law, but they interpret it to justify their
conduct.

In a conflict between International law and Municipal law, International law
prevails.

List-I with List-II and select the correct answer using the code given below

List -1 List-I1

a. Reparation for Injuries case | 1. Prohibition of use of force and the right of collective

self-defense

b. Nottebohm Case 2. Application of Convention

c. Genocide Convention case
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Legal Personality of the U.N.O.

d. Nicaragua case 4. Issue of nationality of the claimant

Code:
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A.
B.
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D.
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of the following is/are associated with behavioral observation?
Non-verbal analysis

Linguistic analysis

Spatial analysis

All the above
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Select the correct code :
The characteristics of a good hypothesis includes
1. Conceptual clarity

2. Testability

3. Subjectivity

4. Consistency
Code:

A. 1and?2

B. 1,2 and 4

C. 1,2and 3

D. All of the above

44 Select the correct code:

The methods of primary data collection includes

1. Observation
2. Interview

3. Experimentation

Code:

A. 1land?2
B. 1and 3
C. 2and3
D. All the above

45 Match List-I with List-II and select the correct answer using the code given below

List -1 List-II
a. ChiSquare 1. Significance of means
b. Ftest 2. Relationship of variables
c. Correlation 3. Association of attributes
d. Regression 4, Quantum of influence of one variable over the other
Code:
a b c d
A4 3 2 1
B.2 1 3 4
C.3 1 2 4
D.1 2 4 3

46 Match List-1 with List-II and select the correct answer using the code given below

List -1 List-1I
a. Mean 1. Middle most
b. Mode 2. Average
c. Median 3. Highest and Lowest
d. Range 4. Most frequented

10
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Code:

a b ¢ d
A.3 4 2 1
B.2 1 3 4
C.3 1 2 4
D.2 4 1 3

Assertion(A): Research attempts to fill up a gap in an existing literature.

Reason(R): Research expands the horizon of knowledge.

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A

C. Aistrue butRis false

D. Ais false but R is True

Assertion(A): Through samples the Universe is understood.
Reason(R): Samples are the only source to understand the Universe.

A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not a correct explanation of A
C. Aistrue butRis false

D. Ais false but R is True

Which of the following is NOT a characteristic of a systematic research
A. Subjectivity
B. Validity
C. Generalisability
D. Reliability

Which of the following statement is NOT correct
A. Judicial precedent is based on inductive reasoning
B. Legislation is based on deductive logic
C. Syllogism deals with logical reasoning

D. Case study method is a doctrinal method
kkskkkk
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